
【積分計算ドリル】　解答 1128

　以下，C は積分定数を表すものとする．

【１】
∫

1
x log x

dx =
∫

1
log x

· 1
x

dx = log | log x| + C

【２】
∫

(4x − 32x)dx =
4x

log 4
− 9x

log 9
+ C

(
=

22x−1

log 2
− 32n

2 log 3
+ C

)

【３】
∫

x

(x − 1)2
dx =

∫
(x − 1) + 1
(x − 1)2

dx

=
∫ {

1
x − 1

+ (x − 1)−2

}
dx = log |x − 1| − 1

x − 1
+ C

【４】
∫

sinx(1 − cos 10x)dx =
∫ {

sinx − 1
2
(sin 11x − sin 9x)

}
dx

= − cos x +
1
22

cos 11x − 1
18

cos 9x + C

【５】
∫ π

0
sin3 u cos2 udu =

∫ π

0
(cos4 u − cos2 u)(− sinu)du

=
[
1
5

cos5 u − 1
3

cos3 u

]π

0

=
−1 − 1

5
− −1 − 1

3
=

4
15

【６】
∫ π

0
cos2 u sin2 udu =

∫ π

0

( sin 2u
2

)2
du = 1

8

∫ π

0
(1 − cos 4u)du =

π

8

(注：区間 [0, π]において，cos 4uは 2周期分である．)

【７】
∫ 1

−1
(2u2 − 1)3du = 2

∫ 1

0
(8u6 − 12u4 + 6u2 − 1)du

= 2
(

8
7
− 12

5
+ 2 − 1

)
= 2 · 40 − 84 + 35

35
= −18

35

【８】
∫ 1

0
u3(1 − u4)3du =

1
−4

∫ 1

0
(1 − u4)3 · (−4u3)du =

1
−4

[
1
4
(1 − u4)4

]1

0

=
1
16

【９】
∫ 2

1

u√
u2 + 1

du =
∫ 2

1
(u2 + 1)−

1
2 · 2u × 1

2
du =

1
2

[
2(u2 + 1)

1
2

]2

1

=
√

5 −
√

2

【10】
∫ 1

0

√
2x − x2dx =

∫ 1

0

√
1 − (x − 1)2dx = 1 2

1

y =
p

1 − (x − 1)2

x

y

O =
π · 12

4
=

π

4
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